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R: BINERGET REE

1. (perp FESMEY) BEE (X, X,) BBV MEEBEREERL T Two random variables X; and
Xy are said to have a bivariate normal distribution with parameters p1, 01, po, 02, and p, if their joint

probability density function is given by

Flar, ) . [ : ]
x1,x2) = eXp |~ 57 o
2no1094/1 — p? 2(1—-p?)

where ) )
Lo =)™ 2p(an — (2 — po) n (z2 — p2)
U% 0102 U%
and
covya
p = corr(zy,x2) = .
0102

is the correlation of X; and Xy and covjs is the covariance of X; and X». B — & = F A0 ik
RBERE Z R KT - MAR (11,22, p1, po, 01,02, coviz) » BIER f(x1,22).

2. (KLB) KB TFIZE  SHEESRERDMEREERHE -
(O]£3%E: http://tagteam.harvard.edu/hub_ feeds/1981 /feed_items/177468)
(a) p1 = pz = 0,0} =03 =1,cova = 0.
(b) 1 =pe =0,0? =1,03 =9, covia = 0.

(¢) p1 = pe = 0,0% = O'% =1, covia = 0.99.

3. (scatter3D {plot3D} E<HE)

(a) %% dimRed Eff - WEIAZI RStudio * FIFIES dataSetList SIHILEHFREZZERNELH -

(b) AFH$EZ loadDataSet 77 AIES"3D S Curve" * "FishBowl" » "Helix" —f{EAERIEZ 1000 &
BEillE o DL scatter3D {plot3D} EH=BAEABEZAME (BERMULIBEEIR)(BE
B&) (B—ENER—B=RE EI=EFrEEE, —5=1#)) -



4. BIRERE]Y - BEfek BEBEZEMNA R EXEL TEREHHEHENEBE 2R - fAXEWE—FIE!
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(a) DEZFREAIAR:

z(f) = 16sin3(9),
y(@) = 13cos(f) — 5cos(20) — 2cos(36) — cos(46),

—r<0<m.

(b) BNAEMNEL KRS E: plot(..., xaxt="n", frame.plot=F), polygon, text
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